2023 Arterial Street Improvement Program Bid Tabulation Bid Opening: July 6, 2023, 10:00 am				Engineer's Estimate		A Lamp Concrete Contractors, Inc. 1900 Wright Boulevard Schaumburg, IL 60193		Plote Construction, Inc. 1100 Brandt Drive Hoffman Estates, IL 60192		Arrow Road Construction Co. 1445 Oakton Street Elk Grove, IL 60007		1025 E.	n Paving Company Addison Court Leights, IL 60005
PAY ITEM	PAY ITEM DESCRIPTION	UNIT	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
20101000	TEMPORARY FENCE	FOOT	1000	\$5.50	\$5,500.00	\$1.00	\$1,000.00	\$6.00	\$6,000.00	\$5.50	\$5,500.00	\$5.50	\$5,500.00
20101100	TREE TRUNK PROTECTION	EACH	50	\$143.00	\$7,150.00	\$50.00	\$2,500.00	\$150.00	\$7,500.00	\$65.00	\$3,250.00	\$65.00	\$3,250.00
20200100	EARTH EXCAVATION	CU YD	74	\$65.00	\$4,810.00	\$55.00	\$4,070.00	\$135.00	\$9,990.00	\$50.00	\$3,700.00	\$100.00	\$7,400.00
20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	127	\$50.00	\$6,350.00	\$30.00	\$3,810.00	\$25.00	\$3,175.00	\$1.00	\$127.00	\$75.00	\$9,525.00
28000510	INLET FILTERS	EACH	87	\$155.00	\$13,485.00	\$15.00	\$1,305.00	\$185.00	\$16,095.00	\$185.00	\$16,095.00	\$150.00	\$13,050.00
35800200	AGGREGATE BASE REPAIR	TON	229	\$20.00	\$4,580.00	\$16.00	\$3,664.00	\$20.00	\$4,580.00	\$1.00	\$229.00	\$20.00	\$4,580.00
40600290	BITUMINOUS MATERIALS (TACK COAT)	POUND	17613	\$0.50	\$8,806.50	\$0.01	\$176.13	\$1.65	\$29,061.45	\$0.01	\$176.13	\$1.00	\$17,613.00
40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	TON	1558	\$122.00	\$190,076.00	\$127.00	\$197,866.00	\$124.00	\$193,192.00	\$106.00	\$165,148.00	\$123.00	\$191,634.00
40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	SQ YD	396	\$10.50	\$4,158.00	\$10.00	\$3,960.00	\$26.00	\$10,296.00	\$4.40	\$1,742.40	\$5.00	\$1,980.00
40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	TON	866	\$100.00	\$86,600.00	\$101.00	\$87,466.00	\$94.00	\$81,404.00	\$94.00	\$81,404.00	\$103.00	\$89,198.00
40604062	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N70	TON	2282	\$104.00	\$237,328.00	\$99.00	\$225,918.00	\$97.00	\$221,354.00	\$93.35	\$213,024.70	\$102.00	\$232,764.00
42300200	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6 INCH	SQ YD	17	\$94.00	\$1,598.00	\$140.00	\$2,380.00	\$140.00	\$2,380.00	\$140.00	\$2,380.00	\$100.00	\$1,700.00
42300400	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 8 INCH	SQ YD	4	\$141.00	\$564.00	\$150.00	\$600.00	\$235.00	\$940.00	\$150.00	\$600.00	\$200.00	\$800.00
42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	SQ FT	5215	\$12.00	\$62,580.00	\$9.50	\$49,542.50	\$10.90	\$56,843.50	\$12.00	\$62,580.00	\$16.00	\$83,440.00
42400800	DETECTABLE WARNINGS	SQ FT	460	\$47.00	\$21,620.00	\$25.00	\$11,500.00	\$37.00	\$17,020.00	\$50.00	\$23,000.00	\$85.00	\$39,100.00
44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	SQ YD	37054	\$3.50	\$129,689.00	\$2.80	\$103,751.20	\$3.45	\$127,836.30	\$2.75	\$101,898.50	\$4.25	\$157,479.50
44000200	DRIVEWAY PAVEMENT REMOVAL	SQ YD	32	\$31.50	\$1,008.00	\$20.00	\$640.00	\$27.00	\$864.00	\$25.00	\$800.00	\$31.00	\$992.00
44000300	CURB REMOVAL	FOOT	12	\$24.00	\$288.00	\$6.50	\$78.00	\$45.00	\$540.00	\$12.00	\$144.00	\$55.00	\$660.00
44000500	COMBINATION CURB AND GUTTER REMOVAL	FOOT	2355	\$9.50	\$22,372.50	\$6.50	\$15,307.50	\$11.30	\$26,611.50	\$12.00	\$28,260.00	\$35.00	\$82,425.00
44000600	SIDEWALK REMOVAL	SQ FT	5513	\$2.70	\$14,885.10	\$1.15	\$6,339.95	\$3.10	\$17,090.30	\$5.00	\$27,565.00	\$6.00	\$33,078.00
44003100	MEDIAN REMOVAL	SQ FT	3885	\$22.00	\$85,470.00	\$1.50	\$5,827.50	\$4.45	\$17,288.25	\$15.00	\$58,275.00	\$7.25	\$28,166.25
44200929	CLASS B PATCHES, TYPE I, 8 INCH	SQ YD	145	\$171.00	\$24,795.00	\$60.00	\$8,700.00	\$65.00	\$9,425.00	\$225.00	\$32,625.00	\$150.00	\$21,750.00
44200934	CLASS B PATCHES, TYPE II, 8 INCH	SQ YD	145	\$142.00	\$20,590.00	\$60.00	\$8,700.00	\$65.00	\$9,425.00	\$225.00	\$32,625.00	\$150.00	\$21,750.00
44200942	CLASS B PATCHES, TYPE III, 8 INCH	SQ YD	145	\$132.00	\$19,140.00	\$50.00	\$7,250.00	\$65.00	\$9,425.00	\$225.00	\$32,625.00	\$150.00	\$21,750.00
44200944	CLASS B PATCHES, TYPE IV, 8 INCH	SQ YD	145	\$131.00	\$18,995.00	\$50.00	\$7,250.00	\$65.00	\$9,425.00	\$225.00	\$32,625.00	\$150.00	\$21,750.00
44201737	CLASS D PATCHES, TYPE I, 8 INCH	SQ YD	141	\$66.00	\$9,306.00	\$40.00	\$5,640.00	\$65.00	\$9,165.00	\$36.00	\$5,076.00	\$78.74	\$11,102.34
44201741	CLASS D PATCHES, TYPE II, 8 INCH	SQ YD	141	\$65.00	\$9,165.00	\$40.00	\$5,640.00	\$65.00	\$9,165.00	\$36.00	\$5,076.00	\$78.74	\$11,102.34
44201745	CLASS D PATCHES, TYPE III, 8 INCH	SQ YD	141	\$64.00	\$9,024.00	\$35.00	\$4,935.00	\$65.00	\$9,165.00	\$34.00	\$4,794.00	\$78.74	\$11,102.34
44201747	CLASS D PATCHES, TYPE IV, 8 INCH	SQ YD	141	\$63.00	\$8,883.00	\$35.00	\$4,935.00	\$65.00	\$9,165.00	\$33.00	\$4,653.00	\$78.74	\$11,102.34
60200105	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, OPEN LID	EACH	4	\$7,360.00	\$29,440.00	\$5,000.00	\$20,000.00	\$6,985.00	\$27,940.00	\$6,985.00	\$27,940.00	\$6,150.00	\$24,600.00
60250200	CATCH BASINS TO BE ADJUSTED	EACH	54	\$475.00	\$25,650.00	\$550.00	\$29,700.00	\$450.00	\$24,300.00	\$450.00	\$24,300.00	\$450.00	\$24,300.00
60252800	CATCH BASINS TO BE RECONSTRUCTED	EACH	15	\$1,600.00	\$24,000.00	\$1,700.00	\$25,500.00	\$1,525.00	\$22,875.00	\$1,525.00	\$22,875.00	\$1,525.00	\$22,875.00
60255500	MANHOLES TO BE ADJUSTED	EACH	20	\$735.00	\$14,700.00	\$550.00	\$11,000.00	\$465.00	\$9,300.00	\$465.00	\$9,300.00	\$465.00	\$9,300.00
60257900	MANHOLES TO BE RECONSTRUCTED	EACH	4	\$1,800.00	\$7,200.00	\$1,700.00	\$6,800.00	\$1,685.00	\$6,740.00	\$1,685.00	\$6,740.00	\$1,685.00	\$6,740.00
60265700	VALVE VAULTS TO BE ADJUSTED	EACH	4	\$700.00	\$2,800.00	\$800.00	\$3,200.00	\$465.00	\$1,860.00	\$465.00	\$1,860.00	\$465.00	\$1,860.00
60266100	VALVE VAULTS TO BE RECONSTRUCTED	EACH	1	\$1,845.00	\$1,845.00	\$1,800.00	\$1,800.00	\$1,685.00	\$1,685.00	\$1,685.00	\$1,685.00	\$1,685.00	\$1,685.00
60600605	CONCRETE CURB, TYPE B	FOOT	12	\$65.00	\$780.00	\$50.00	\$600.00	\$63.50	\$762.00	\$100.00	\$1,200.00	\$100.00	\$1,200.00
60603800	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	FOOT	1243	\$51.00	\$63,393.00	\$40.00	\$49,720.00	\$41.25	\$51,273.75	\$66.00	\$82,038.00	\$75.00	\$93,225.00
60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	FOOT	1112	\$57.00	\$63,384.00	\$50.00	\$55,600.00	\$52.00	\$57,824.00	\$76.00	\$84,512.00	\$125.00	\$139,000.00
70102620	TRAFFIC CONTROL AND PROTECTION, STANDARD 701501	L SUM	1	\$40,000.00	\$40,000.00	\$154,000.00	\$154,000.00	\$83,000.00	\$83,000.00	\$57,000.97	\$57,000.97	\$52,291.13	\$52,291.13
70102625	TRAFFIC CONTROL AND PROTECTION, STANDARD 701606	L SUM	1	\$1,000.00	\$1,000.00	\$1.00	\$1.00	\$1.00	\$1.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
70102635	TRAFFIC CONTROL AND PROTECTION, STANDARD 701701	L SUM	1	\$1,000.00	\$1,000.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00
70102640	TRAFFIC CONTROL AND PROTECTION, STANDARD 701801	L SUM	1	\$1,000.00	\$1,000.00	\$1.00	\$1.00	\$1.00	\$1.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ FT	521	\$4.80	\$2,500.80	\$8.80	\$4,584.80	\$5.00	\$2,605.00	\$5.00	\$2,605.00	\$5.00	\$2,605.00
78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	FOOT	25071	\$0.75	\$18,803.25	\$1.05	\$26,324.55	\$0.80	\$20,056.80	\$0.80	\$20,056.80	\$0.80	\$20,056.80
78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	FOOT	6152	\$1.10	\$6,767.20	\$1.60	\$9,843.20	\$1.00	\$6,152.00	\$1.00	\$6,152.00	\$1.00	\$6,152.00
78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	FOOT	1706	\$2.20	\$3,753.20	\$6.60	\$11,259.60	\$2.00	\$3,412.00	\$2.00	\$3,412.00	\$2.00	\$3,412.00

Village of Morton Grove, Cook County, Ilinois 2023 Arterial Street Improvement Program

Bid Tabulation Bid Opening: July 6, 2023, 10:00 am			Engineer's Estimate		A Lamp Concrete Contractors, Inc. 1900 Wright Boulevard Schaumburg, IL 60193		Plote Construction, Inc. 1100 Brandt Drive Hoffman Estates, IL 60192		Arrow Road Construction Co. 1445 Oakton Street Elk Grove, IL 60007		1025 E	n Paving Company Addison Court Jeights, IL 60005	
PAY ITEM	PAY ITEM DESCRIPTION	UNIT	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	FOOT	603	\$5.00	\$3,015.00	\$8.55	\$5,155.65	\$5.00	\$3,015.00	\$5.00	\$3,015.00	\$5.00	\$3,015.00
78100100	RAISED REFLECTIVE PAVEMENT MARKER	EACH	91	\$60.00	\$5,460.00	\$138.00	\$12,558.00	\$60.00	\$5,460.00	\$60.00	\$5,460.00	\$60.00	\$5,460.00
88600600	DETECTOR LOOP REPLACEMENT	FOOT	2055	\$16.50	\$33,907.50	\$18.50	\$38,017.50	\$15.50	\$31,852.50	\$15.50	\$31,852.50	\$15.50	\$31,852.50
XX003668	PRECONSTRUCTION VIDEO TAPING	L SUM	1	\$3,200.00	\$3,200.00	\$1,100.00	\$1,100.00	\$2,400.00	\$2,400.00	\$2,400.00	\$2,400.00	\$2,400.00	\$2,400.00
X0320050	CONSTRUCTION LAYOUT (SPECIAL)	L SUM	1	\$20,000.00	\$20,000.00	\$2,000.00	\$2,000.00	\$3,600.00	\$3,600.00	\$3,495.00	\$3,495.00	\$3,500.00	\$3,500.00
X2520700	SODDING, SPECIAL	SQ YD	1110	\$22.00	\$24,420.00	\$15.00	\$16,650.00	\$20.00	\$22,200.00	\$24.00	\$26,640.00	\$17.50	\$19,425.00
X4022000	TEMPORARY ACCESS (COMMERCIAL ENTRANCE)	EACH	1	\$300.00	\$300.00	\$400.00	\$400.00	\$600.00	\$600.00	\$1.00	\$1.00	\$150.00	\$150.00
X6030310	FRAMES AND LIDS TO BE ADJUSTED (SPECIAL)	EACH	7	\$1,100.00	\$7,700.00	\$1,050.00	\$7,350.00	\$2,350.00	\$16,450.00	\$2,350.00	\$16,450.00	\$2,200.00	\$15,400.00
Z0004510	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 3"	SQ YD	11	\$140.00	\$1,540.00	\$30.00	\$330.00	\$180.00	\$1,980.00	\$186.00	\$2,046.00	\$45.00	\$495.00
SP-XX1	AGGREGATE, SPECIAL	TON	10	\$50.00	\$500.00	\$50.00	\$500.00	\$10.00	\$100.00	\$1.00	\$10.00	\$25.00	\$250.00
CORRECTED TOTAL PROPOSAL AMOUNT					\$1,436,875.05 \$1,274,748.08		\$1,331,867.35		\$1,397,045.00		\$1,634,994.54		
AS-READ PROPOSAL AMOUNT						\$1,274,748.08		\$1,331,867.35		\$1,397,045.00		\$1,634,994.60	

Apparent Low Bidder: A Lamp Concrete Contractors, Inc.
Apparent Low Bid Amount: \$1,274,748.08
Engineer's Estimate of Cost: \$1,436,875.05
Difference: -\$162,126.97

Bid Tabulation Bid Opening: July 6, 2023, 10:00 am				Engine	er's Estimate	Builders Paving LLC 4401 Roosevelt Road Hillside, IL 60162		1349 R	aker & Son Co. ockland Road luff, IL 60044	Schroeder Asphalt Services, Inc. P. O. Box 831 Huntley, IL 60142	
PAY ITEM	PAY ITEM DESCRIPTION	UNIT	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
20101000	TEMPORARY FENCE	FOOT	1000	\$5.50	\$5,500.00	\$5.00	\$5,000.00	\$5.90	\$5,900.00	\$6.60	\$6,600.00
20101100	TREE TRUNK PROTECTION	EACH	50	\$143.00	\$7,150.00	\$120.00	\$6,000.00	\$185.00	\$9,250.00	\$205.00	\$10,250.00
20200100	EARTH EXCAVATION	CU YD	74	\$65.00	\$4,810.00	\$60.00	\$4,440.00	\$60.00	\$4,440.00	\$110.00	\$8,140.00
20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	127	\$50.00	\$6,350.00	\$65.00	\$8,255.00	\$25.00	\$3,175.00	\$55.00	\$6,985.00
28000510	INLET FILTERS	EACH	87	\$155.00	\$13,485.00	\$185.00	\$16,095.00	\$185.00	\$16,095.00	\$205.00	\$17,835.00
35800200	AGGREGATE BASE REPAIR	TON	229	\$20.00	\$4,580.00	\$50.00	\$11,450.00	\$20.00	\$4,580.00	\$25.00	\$5,725.00
40600290	BITUMINOUS MATERIALS (TACK COAT)	POUND	17613	\$0.50	\$8,806.50	\$1.00	\$17,613.00	\$1.00	\$17,613.00	\$0.01	\$176.13
40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	TON	1558	\$122.00	\$190,076.00	\$97.50	\$151,905.00	\$115.75	\$180,338.50	\$113.00	\$176,054.00
40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	SQ YD	396	\$10.50	\$4,158.00	\$20.00	\$7,920.00	\$1.00	\$396.00	\$8.00	\$3,168.00
40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	TON	866	\$100.00	\$86,600.00	\$83.00	\$71,878.00	\$87.50	\$75,775.00	\$96.00	\$83,136.00
40604062	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N70	TON	2282	\$104.00	\$237,328.00	\$83.00	\$189,406.00	\$86.35	\$197,050.70	\$97.00	\$221,354.00
42300200	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6 INCH	SQ YD	17	\$94.00	\$1,598.00	\$98.00	\$1,666.00	\$95.00	\$1,615.00	\$110.00	\$1,870.00
42300400	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 8 INCH	SQ YD	4	\$141.00	\$564.00	\$130.00	\$520.00	\$125.00	\$500.00	\$220.00	\$880.00
42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	SQ FT	5215	\$12.00	\$62,580.00	\$12.70	\$66,230.50	\$12.50	\$65,187.50	\$17.60	\$91,784.00
42400800	DETECTABLE WARNINGS	SQ FT	460	\$47.00	\$21,620.00	\$40.00	\$18,400.00	\$40.00	\$18,400.00	\$93.50	\$43,010.00
44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	SQ YD	37054	\$3.50	\$129,689.00	\$3.90	\$144,510.60	\$3.46	\$128,206.84	\$2.60	\$96,340.40
44000200	DRIVEWAY PAVEMENT REMOVAL	SQ YD	32	\$31.50	\$1,008.00	\$26.00	\$832.00	\$47.00	\$1,504.00	\$22.00	\$704.00
44000300	CURB REMOVAL	FOOT	12	\$24.00	\$288.00	\$26.00	\$312.00	\$15.00	\$180.00	\$110.00	\$1,320.00
44000500	COMBINATION CURB AND GUTTER REMOVAL	FOOT	2355	\$9.50	\$22,372.50	\$10.20	\$24,021.00	\$10.00	\$23,550.00	\$16.50	\$38,857.50
44000600	SIDEWALK REMOVAL	SQ FT	5513	\$2.70	\$14,885.10	\$1.80	\$9,923.40	\$1.75	\$9,647.75	\$2.50	\$13,782.50
44003100	MEDIAN REMOVAL	SQ FT	3885	\$22.00	\$85,470.00	\$0.01	\$38.85	\$3.00	\$11,655.00	\$14.00	\$54,390.00
44200929	CLASS B PATCHES, TYPE I, 8 INCH	SQ YD	145	\$171.00	\$24,795.00	\$175.00	\$25,375.00	\$175.00	\$25,375.00	\$220.00	\$31,900.00
44200934	CLASS B PATCHES, TYPE II, 8 INCH	SQ YD	145	\$142.00	\$20,590.00	\$175.00	\$25,375.00	\$175.00	\$25,375.00	\$220.00	\$31,900.00
44200942	CLASS B PATCHES, TYPE III, 8 INCH	SQ YD	145	\$132.00	\$19,140.00	\$175.00	\$25,375.00	\$175.00	\$25,375.00	\$220.00	\$31,900.00
44200944	CLASS B PATCHES, TYPE IV, 8 INCH	SQ YD	145	\$131.00	\$18,995.00	\$175.00	\$25,375.00	\$175.00	\$25,375.00	\$220.00	\$31,900.00
44201737	CLASS D PATCHES, TYPE I, 8 INCH	SQ YD	141	\$66.00	\$9,306.00	\$77.00	\$10,857.00	\$92.00	\$12,972.00	\$80.00	\$11,280.00
44201741	CLASS D PATCHES, TYPE II, 8 INCH	SQ YD	141	\$65.00	\$9,165.00	\$77.00	\$10,857.00	\$92.00	\$12,972.00	\$80.00	\$11,280.00
44201745	CLASS D PATCHES, TYPE III, 8 INCH	SQ YD	141	\$64.00	\$9,024.00	\$77.00	\$10,857.00	\$92.00	\$12,972.00	\$75.00	\$10,575.00
44201747	CLASS D PATCHES, TYPE IV, 8 INCH	SQ YD	141	\$63.00	\$8,883.00	\$77.00	\$10,857.00	\$92.00	\$12,972.00	\$75.00	\$10,575.00
60200105	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, OPEN LID	EACH	4	\$7,360.00	\$29,440.00	\$7,100.00	\$28,400.00	\$3,965.00	\$15,860.00	\$7,700.00	\$30,800.00
60250200	CATCH BASINS TO BE ADJUSTED	EACH	54	\$475.00	\$25,650.00	\$460.00	\$24,840.00	\$495.00	\$26,730.00	\$500.00	\$27,000.00
60252800	CATCH BASINS TO BE RECONSTRUCTED	EACH	15	\$1,600.00	\$24,000.00	\$1,550.00	\$23,250.00	\$1,975.00	\$29,625.00	\$1,700.00	\$25,500.00
60255500	MANHOLES TO BE ADJUSTED	EACH	20	\$735.00	\$14,700.00	\$475.00	\$9,500.00	\$530.00	\$10,600.00	\$505.00	\$10,100.00
60257900	MANHOLES TO BE RECONSTRUCTED	EACH	4	\$1,800.00	\$7,200.00	\$1,700.00	\$6,800.00	\$2,595.00	\$10,380.00	\$1,870.00	\$7,480.00
60265700	VALVE VAULTS TO BE ADJUSTED	EACH	4	\$700.00	\$2,800.00	\$475.00	\$1,900.00	\$1,100.00	\$4,400.00	\$505.00	\$2,020.00
60266100	VALVE VAULTS TO BE RECONSTRUCTED	EACH	1	\$1,845.00	\$1,845.00	\$1,700.00	\$1,700.00	\$2,595.00	\$2,595.00	\$1,870.00	\$1,870.00
60600605	CONCRETE CURB, TYPE B	FOOT	12	\$65.00	\$780.00	\$65.00	\$780.00	\$45.00	\$540.00	\$110.00	\$1,320.00
60603800	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	FOOT	1243	\$51.00	\$63,393.00	\$64.00	\$79,552.00	\$64.35	\$79,987.05	\$82.50	\$102,547.50
60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	FOOT	1112	\$57.00	\$63,384.00	\$80.00	\$88,960.00	\$79.65	\$88,570.80	\$140.00	\$155,680.00
70102620	TRAFFIC CONTROL AND PROTECTION, STANDARD 701501	L SUM	1	\$40,000.00	\$40,000.00	\$9,520.35	\$9,520.35	\$66,830.00	\$66,830.00	\$27,000.00	\$27,000.00
70102625	TRAFFIC CONTROL AND PROTECTION, STANDARD 701606	L SUM	1	\$1,000.00	\$1,000.00	\$2,900.00	\$2,900.00	\$6,000.00	\$6,000.00	\$100.00	\$100.00
70102635	TRAFFIC CONTROL AND PROTECTION, STANDARD 701701	L SUM	1	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$1.00	\$1.00	\$100.00	\$100.00
70102640	TRAFFIC CONTROL AND PROTECTION, STANDARD 701801	L SUM	1	\$1,000.00	\$1,000.00	\$3,800.00	\$3,800.00	\$2,000.00	\$2,000.00	\$100.00	\$100.00
78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ FT	521	\$4.80	\$2,500.80	\$5.00	\$2,605.00	\$5.00	\$2,605.00	\$5.50	\$2,865.50
78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	FOOT	25071	\$0.75	\$18,803.25	\$0.80	\$20,056.80	\$0.80	\$20,056.80	\$0.88	\$22,062.48
78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	FOOT	6152	\$1.10	\$6,767.20	\$1.00	\$6,152.00	\$1.00	\$6,152.00	\$1.10	\$6,767.20
78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	FOOT	1706	\$2.20	\$3,753.20	\$2.00	\$3,412.00	\$2.00	\$3,412.00	\$2.20	\$3,753.20

Village of Morton Grove, Cook County, Ilinois 2023 Arterial Street Improvement Program

Bid Tabulation Bid Opening: July 6, 2023, 10:00 am					neer's Estimate	Builders Paving LLC 4401 Roosevelt Road Hillside, IL 60162		Peter Baker & Son Co. 1349 Rockland Road Lake Bluff, IL 60044		Schroeder Asphalt Services, Inc. P. O. Box 831 Huntley, IL 60142	
PAY ITEM	PAY ITEM DESCRIPTION	UNIT	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	FOOT	603	\$5.00	\$3,015.00	\$5.00	\$3,015.00	\$5.00	\$3,015.00	\$5.50	\$3,316.50
78100100	RAISED REFLECTIVE PAVEMENT MARKER	EACH	91	\$60.00	\$5,460.00	\$60.00	\$5,460.00	\$60.00	\$5,460.00	\$66.00	\$6,006.00
88600600	DETECTOR LOOP REPLACEMENT	FOOT	2055	\$16.50	\$33,907.50	\$15.50	\$31,852.50	\$16.85	\$34,626.75	\$17.00	\$34,935.00
XX003668	PRECONSTRUCTION VIDEO TAPING	L SUM	1	\$3,200.00	\$3,200.00	\$2,400.00	\$2,400.00	\$2,400.00	\$2,400.00	\$1,850.00	\$1,850.00
X0320050	CONSTRUCTION LAYOUT (SPECIAL)	L SUM	1	\$20,000.00	\$20,000.00	\$3,600.00	\$3,600.00	\$3,495.00	\$3,495.00	\$5,000.00	\$5,000.00
X2520700	SODDING, SPECIAL	SQ YD	1110	\$22.00	\$24,420.00	\$15.00	\$16,650.00	\$25.70	\$28,527.00	\$28.30	\$31,413.00
X4022000	TEMPORARY ACCESS (COMMERCIAL ENTRANCE)	EACH	1	\$300.00	\$300.00	\$320.00	\$320.00	\$100.00	\$100.00	\$350.00	\$350.00
X6030310	FRAMES AND LIDS TO BE ADJUSTED (SPECIAL)	EACH	7	\$1,100.00	\$7,700.00	\$2,500.00	\$17,500.00	\$570.00	\$3,990.00	\$2,595.00	\$18,165.00
Z0004510	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 3"	SQ YD	11	\$140.00	\$1,540.00	\$110.00	\$1,210.00	\$110.00	\$1,210.00	\$95.00	\$1,045.00
SP-XX1	AGGREGATE, SPECIAL	TON	10	\$50.00	\$500.00	\$70.00	\$700.00	\$35.00	\$350.00	\$70.00	\$700.00
CORRECTED TOTAL PROPOSAL AMOUNT					\$1,436,875.05	\$1,298,280.00		\$1,387,965.69		\$1,583,517.91	
AS-READ PROPOSAL AMOUNT						\$1,298,280.00			\$1,387,965.69	\$1,583,517.91	

Apparent Low Bidder: A Lamp Concrete Contractors, Inc.
Apparent Low Bid Amount: \$1,274,748.08
Engineer's Estimate of Cost: \$1,436,875.05
Difference: -\$162,126.97